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(1) [2 +8 marks| Below is the cumulative relative frequency polygon for 50 Fi-
nal Exam Scores in Elementary Statistics. Estimate the mean X and the
variance S2 through the polygon.
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and weights (in inches and pounds, z and y, respectively):
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(3) [2+ 2 marks] In how many ways can 3 different Math. books, 3 different
Biology boolks, and 5 different Psychology books be arranged on a shelf,
(a) if books of the same subject must be together?
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(4) [3+ 4 marks] Consider the random variable, X, described by the number of
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group of 4 students and 5 teachers.
(a) Give a function for the probability distribution of X,
(b) Find g and ¢*.
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(7) [7 marks| The Texas Department of Health published the state-wide results
from the Emergency Medical Services Certification Examination. Those who
took the paramedic exam for the first time in October 2001 got an average
score of 79.68 (out of a possuble 100) Suppose a random sample of 50 in-
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(8) [5 marks|] At Dawson’s last registration, 16 students were timed. They aver-
aged 50 minutes, with a standard deviation of 10, to complete their registra-
tion. Construct a 95% confidence interval estimate for the true mean time
that it took students to complete their last registration at Dawson.
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under the age of 25 spend less on food away from home than households
headed by people aged 25 or more. The mean amount spent by 30 households
headed by people under the age of 25 is $1526 and the population standard
deviation is $225. The mean amount spent by 40 households headed by people
aged 25 or more is $1736 and the population standard deviation is $350. Can
you support the restaurant association’s claim at a = 0.017
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(10) [10 marks] In a random survey of 1500 adults in California and 1000 adults
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proportion of adults who are smokers is lower in California than Oregon?
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(13) [2 + 10 marks|Consider the probability density function

_ ] kcos(z) if 0<z <%
fa) = { 0 otherwise.

(a) Find &

(b) Find the mean p and the variance o*.
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